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Problem: 1

One solution of x3 = 5x2 + 5x — 1 =0 is 1. Find the other two solutions.

A) [4+4[3,4-4[3) B) {2+4/3,2-4/3)
C) {4 £24f3,4- 243} D) {2 + 243, 2 - 243}

Problem 2

A twenty-five foot ladder just reaches the top of a house and forms and 41.5 degrees
with the wall of the house. How tall is the house? Round your answer to the nearest 0.1
foot.

A) 18.6 ft B) 19 ft ' C) 18.7 ft D) 18.8 ft

Problem: 3

What principal invested at 8%, compounded continuously for 4 years, will yield $1190?
Round the answer to two decimal places.

A) $1188.62 B) $864.12 C) $627.48 D) $1638.78
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Problem: 4

1240

The logistic growth model P(t) = T+ 300-0.333

represents the population of a bacterium in a

culture tube after t hours. What was the initial amount of bacteria in the population?

A) 45 B) 40 C) 39 D) 41

Problem: 5

If sin 6 = 0.3, find sin (6 + 7).
A) -0.7 B) 0.3 Cy-03 D) 0.7

Problem: 6

Find all the zeros of the function and write the polynomial as a product of linear factors.

f(x) = x3 - x2 + 36x - 36
A) f(x) = (x= 1)(x+ 1)(x + 36) B) f(x) = (x = 1)(x + 6i)(x - 6i)
C)f(x) =(x-1D(x+6)(x-06) D) f(x) = (x - 29)(x +i)(x - 1)
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Problem: 7

Information is given about a polynomial f(x) whose coefficients are real numbers. Find
the remaining zeros of f.

Degree 3 zeros: 2,3 -1
A)3 +i B)-3+i C)-2 D) no other zeros

Problem: 8

Without graphing the function, determine its amplitude or period as requested.

y = sin 5x Find the period.

A)2m B) 5 C)% D) 1

Problem: 9

Without graphing the function, determine its amplitude or period as requested.

y =-4sin x Find the amplitude.

A)2m B) 4 C)— D) -4n
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Problem: 10

Write as the sum and/or difference of logarithms. Express powers as factors.

x=-2
1053[ : ]

A) loga{x—2)—loggx B)Sloggx—logq(X—Z)
Q) lc:ng3 (x—2)+81053x D) log3 (x—Z)—Slogqx
Problem: 11

Write as the sum and/or difference of logarithms. Express powers as factors.

897

A) Icag9 11+ 1og9 4 B) log9 4 - lf:)g9 11
<) logg 11 - logg - D) ls:)g9 11+ log9 11
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Problem: 12

Use the graph to find the oblique asymptote, if any, of the function.

A)y=-x B) y = 2x Cy=x D) none

Problem: 13

Find the exact solution of the equation.

; 0
sin~l x =—
2

A)yx=1 Byx=-1 Cyx=0 D)yx=m




ap-calc.github.io


Are You Ready 4 Calculus | AP Calculus AB/BC | Test 4 | © ap-calc.github.io

Problem: 14

Solve the triangle.

A)b=944 A-718° C=137.2° B)b=744, A=1372°, C=78°
C)b=844,A=1372°C=78° D)b=8.44, A=78°C=1372°
Problem: 15

Solve the triangle.

C
7 =
B A
8
A) A=61°,B=89°, C=30" B) A=30°B=289°C=61°

€} A=30°B=561",C=89° D) A=61°,B=30° C=89°
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Problem: 16

Solve the triangle.

B
A)B=60° a=327c=446 B) B=55° a=446,c=3.27
C)B=60° a=4.46,c=3.27 D)B=65°%a=327,c=4.46
Problem: 17

Find the vertical asymptotes of the rational function.

x-4
I—I(X):ltix x3
A)x=0,x=-4 B)yx=-4,x=4

C)x=0, x=4 D)yx=0,x=-4,x=4
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Problem: 18

Find the exact value of the expression.

S11 12
243 -1 23 -1
A) 23 -1) B)A2AE - 1) o) % D)%
Problem: 19
Find the exact value of the expression.
sin—1 ﬁ
2z
3m 26 b1 27
N Bz O35 D

Problem: 20

Express the product as a sum containing only sines or cosines.

sin(60) sin(30)
A) %[ c0s(30) - cos(98)] B)

[sin(96) + cos(36)]

C) sin2(1862) D) =[cos(98) - cos(36)]
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Problem: 21

Use the given zero to find the remaining zeros of the function.

f(x) =x3 +3x2 - 8x + 10; zero: 1 +i
A)l1-45 B) -5,5 C)1-14,5i D)1-14,-5

Problem: 22

Use the Change of Base formula and a calculator to evaluate the logarithm. Round your
answer to three decimal places.

ln:Jg2 60.29
A)0.169 B) 1.780 C) 5914 D) 30.145
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Problem: 23

Use the properties of logarithms to evaluate the expression. Do not use a calculator.

log3 310
A) 30 B)1 C) 10 D)3

Problem: 24

Use the properties of logarithms to evaluate the expression. Do not use a calculator

In N7

A) 49 B) 7 C)Af7 D)e

Problem: 25

Find the area of the triangle. If necessary, round the answer to two decimal places.

C

B

S]]
=

A) 4474 B) 195.03 C) 14.98 D) 4.86
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Problem: 26

Find the area of the triangle. If necessary, round the answer to two decimal places.

Problem: 27

Use transformations to graph the function.

y = sin (7tx)

T

C) 4.29

D) 0.31
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Problem: 28

Express the sum or difference as a product of sines and/or cosines.

cos(108) - cos(48)
A) -2 cos(76) sin(30)
) 2 cos(70) cos(30)

Problem: 29

B) 2 cos(30)
D) -2 sin(70) sin(30)

Two sides of a triangle are given. Determine whether the given information results in one
triangle, two triangles, or no triangles at all. Solve any triangle(s) that results.

a=7,b=9 B=49°
A) one triangle

A=3594° C=95.06°, c=1188

C) one triangle

A=7601°C=5499° c=7.60

Problem: 30

Simplify the expression.

cos B
—_—
1+sinB

A) 1l B) sin2 0

tan 6

B) two triangles
A1 =76.01° Cq1 =54.99° ¢1 =7.60 or
Ap=103.99°,C»=27.01,cn» =12.14

D) no triangle

C)cosB +sin B D) sec 0
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Problem: 31

Use the Change of Base formula and a calculator to evaluate the logarithm. Round your
answer to two decimal places.

log325
A)1.10 B) 3.22 C)0.34 D) 2.93

Problem: 32

Find the center (h,k)and radius r of the circle with the given equation.

(x-1)2+(y+1)2=25

A)Yh, k)={-1.1), £=5 B) (h, K)=(1,-1); =25
C)(h,k)y=(1,-1); r=5 D) (h k)=(-1,1); r=25
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Problem: 33

Solve the equation on the interval 0 <6 <27.

2sin2 0 =sin O

n bm T 27 m 3n m 2n
Eadi i) VaE Yo ve s
Problem: 34
Solve the equation on the interval 0< 6 <27.
2cosB+3=2
St 7m 2 DTy - 21 4m
N e S s S

Problem: 35

Find the domain of the function.

f(x) =21 - x

A) [xIx =a[21} B) {xIx <21} C) xIx =21}

. 11w

e

D) {x!x <af21}
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Problem: 36

Use the graph to determine the domain and range of the function.

A) domain: {x|x = 3} B) domain: {x|x = 2}
range: {yly = -2} range: {yly = 3}
C) domain: {x|x = 3} D) domain: {x|x = -2}

range: {yly =2} range: {yly = 3}
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Problem: 37

Use the graph to determine the domain and range of the function.

A) domain: {x|x= -2, x =2}
range: all real numbers

C) domain: {xIx=-2, x =2}
range: {y ly = 0}

Problem: 38

Solve the equation

lc.)g2 x=23
A) {9} B) {1.58}

B) domain: all real numbers
range: all real numbers

D) domain: all real numbers
range: {yly =-2,y =2}

C) {6} D) {8}
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Problem: 39

Solve the equation

e _
4 L 3
{ = B) {-4} C) {4} D) {2}

log 3

Problem: 40

A point on the terminal side of the angle @is given. Find the exact value of the indicated
trigonometric function of 4.

(-3,-4) Find sin 6.

3 3
A)g B)—g C)—g D)

SIS
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Problem: 41

Use the graph to find the horizontal asymptote, if any, of the function.

A)}F:—lf}?:l B)y:l
O)x=-1,x=1,y=1 D)y=0,y=1
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Problem: 42

Identify the graph the function f(x) = 2Inx, without a calculator.

A)
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Problem: 43

Identify the graph of f(x)=e", without a calculator.
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Problem: 44

Find an equation for the given graph.

5
4
3
2

A) v =-4 cos (2x) B)y=-4 sin[%x] C) y=-4 cos [% ] D) y = -4 sin (2x)

Problem: 45

Find the domain of the rational function.

Gl = X +4
x2 +1
A) {xlx ==1, x =1} B) {xIx 20, x = =1}

O {xlx=-1,x=1, x = -4} D) all real numbers
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Problem: 46

Find the intercepts of the function f(x).

f(x) =x3 +2x2 - 9x - 18
A) x-intercept: -3; y-intercept: -18 B) x-intercepts: -3, -2, 3; y-intercept: -18
C) x—intercepts: -3, 2, 3; y—-intercept: -18 D) x-intercept: -2; y-intercept: -18

Problem: 47

Give the equation of the horizontal asymptote, if any, of the function.

x2+1x-9
x-9

A)y=0 Byy=1 Qy=9 D) none

Glx) =
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Problem: 48

Find the amount that results from the investment.

$12,000 invested at 7% compounded quarterly after a period of 4 years
A) $3839.15 B) $15,729.55 C) $15,566.73 D) $15,839.15

Problem: 49

Solve the equation in the real number system

x3 4+ 9x2 +26x +24=0
A) {3, 4) B) {2, 3, 4} Gy -4, -8, D) {-4.-3}

Problem: 50

Use the information given about the angle €, for 0<68<2r, to find the exact value of
the indicated trigonometric function of 6.

q
sin O :E 0<o ﬁ:% Find cos(26).
- 118 120 119
A 15 B) T T D)-1%
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ANSWER KEY
Problem ‘ Answer Problem ‘ Answer
1 B 26 A
2 C 27 C
3 B 28 D
4 B 29 A
5 C 30 D
6 B 31 D
7 A 32 C
8 C 33 A
9 B 34 C
10 D 35 B
11 C 36 B
12 C 37 A
13 A 38 D
14 D 39 C
15 D 40 C
16 A 41 B
17 A 42 C
18 D 43 A
19 B 44 B
20 A 45 D
21 D 46 B
22 C 47 D
23 C 48 D
24 C 49 C
25 C 50 A
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